
B.A.lPart-IIIlHons.IHISA- V12019

Time Allotted: 4 Hours

HISTORY

PAPER-HISA- V

Full Marks: 100

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

~ ~ ~lfn "Jf\wr$1,¢lR ~ ~I

~ ~ 'i51Wff 1.f!(/f ~ "IW#/){l1 ~

m~1

GROUP-A

~-~
1. Answer any four questions from the following:

Pl~Wl~ ()l-~ 1iRfff; ~ ~ 1f1\G~

5x4 = 20

(a) Analyse the causes of the Revolt of 1857.

~b-~'1-I!l~MatlC~~<ffif'1~'1 <ffifll

(b) What do you understand by 'de-industrialisation '?

l\5l<l!i't~m'1' ~ ~ c<rrc<IIl?

(c) Explain the phenomenon of commercialisation of agriculture during British rule.

~ "tlJ'l"'l41lta, ~ ~'1 ~ ~ <ffifll

(d) Mention at least two limitations of the Moderates.

~~~~ ~ 'tcfG1'!>I'?l ~~ I

(e) When and why did the Muslim League emerge?

~ '8 <:<A"~ ~9Rf ~~~ ~ ?

(f) What was the essence of Gandhiji's Satyagraha?

~~~~~~?

(g) Why was the Swarajya Party formed?

<:<A"~ lfa1 Q ~C~~a, ?

(h) Why did the Cripps Mission fail?

f?!>~,~ ~ <u~~C~~C1 ?
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GROUP-B

~-~

Answer any four questions from the following

f.l~M~ ClT-~ ~ ~ ffi if1'6

2.. Analyse the regional variations in the Revolt of 1857.

~b-:~~~Ma:tl~'il~m~MCm<Hm1

3. Why did Extremism originate in Indian politics?

~1~~ '$l1\Si=t)N>(.\!)~~ ~ ~ ~C~~C1 ?

4. Analyse the rise of Gandhiji in Indian politics. How did he give a new look to the
Indian National Movement?

\51'$l@l~ '$llerOflN>C~ 'ijlN1~'$l ~ m<l'l' ~ I 1\tf.l ~\5~ ~1'$l@l~ ~ I§IICilktCi1"'lC<fS
'"'l\fo1 Qi9f ~ <fSC'$l~ca,"'l?

5. Do you think that the Civil Disobedience Movement was a qualified advance over
the Non-Cooperation Movement in every respect?

~~ ~ ~ ~~ '6/IC~ICi1"'l'6/Ji~C~I'ij '6/1C~ICi1C"'l'$l~~~ ~~91~?

6. Give an account of the growth of modem industry in India between 1919 and
1939.

~~~~ ~~~~\!)~ ~~~~~mM<fSl<:'Bf~'P1l'81

7. Did the Tebhaga Movement succeed in achieving its goal?

~'6flC"I11a,"'l~%f~~'1~~C~~ ?

8. Was the Partition oflndia in 1947 inevitable?

~~89 -~~ ~ f.f;st'ij ~ ~41(~ ?

9. Why was planned economy adopted in independent India? Mention the main
objectives of the first two Five Year Plans.

~ 'SHN>4C( 9fM<fSftN> ~ ~ ~ ~ ~C~~ ? ~ '6 ~ 9f\l3~
9fM<fStf"'lI'$l~~ ~ ~ ~ I

10. What was the position of women in late nineteenth and early twentieth century
Indian society?

~ -MC<fS'$l~ '6 ~ "MC<fS'$l'e~ \51'$l@l~~ ~1~kq'$l ~ ~ ~ ?

--x--
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20x4 = 80
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